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Surveyor L 1

Q 1) Which type of surveying is related to plotting natural features like rivers, forests etc. /

o TR BT qaefor Afeat, ShTa Sfe S Ui fad [aRiwdrel & H1Y ¥ Tefid g

1) Topographic Surveying / A&
2) Cadestal Surveying / PHoTd A&l
3) Mining Surveying / & e

4) Hydrographic Surveying / EE@"JITW gdefur

Q 2) If true shape of earth is taken into account, the surveying done is said to be ........... /afg

T2t & el MR b & T T STl &, ot foam a7 Taeqor .......... CESIGIE

1) Engineering Surveying / oA e
2) Land Surveying/ ¥[cl e

3) Geodetic Surveying / ‘J;LT@IT‘ﬂ'q HJefur

4) City Surveying / TR A&

Q 3) Which is NOT one of the principles of all surveys? /E:Iﬁ J o g wd & Rigiar o
YT TRl 6 2

1) Working from whole to part / @ ek Udh Udh HIIT o WT

2) Working from part to whole / Uch Udh HIT UX ST B ﬁg
3) Fixing a point with reference to two fixed points / alfq Id'g\?ﬁ & ey o ﬁ?:;
fRryfRor

4) None of these/ 370 I CAEEK

Q 4) Figure below shows a surveying instrument. What is NOT true about it? / BIE] Udh Id

W%WW%I@%W@WWH@%?

Dbt v
. iNpuri Ll P

1) It is called prismatic compass / g feAfesw Hm B g

2) It is used for measuring angles in surveying/ gdeqor & 1T AToA & IUTRT fosam Srar %
3) With this surveying can be done rapidly / L3R JA&for H ST T ST bl %

4) It is used where high precision in surveying is required / ST SUART TA&UT B 3=
OIRRGAT BT AT 8 [ STl &

Q 5) Figure given below shows functional diagram of ................ /=g feame 7Te fom |
............. &1 fohaTEd ST §
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1) sextant / Jauce
2) Clinometer / fae diex
3) Binoculars/

4) Ceylon Ghat Trace / BISIERI aﬂ

Q 6) Figure below shows an instrument that enables copying at varying scales. It is called

............... /R P fom B faaman a1 SUHRT oY dedd HIY &) Hitl 4 H G&H g1 I8

1) Planimeter / TR

2) Pantograph / gel uh

3) Micrometer / TS Hiex
4) Clinometer / foI Hiex

Q 7) Mean Sea Level (MSL) is obtained by making hourly observtions of tides at any place.
MSL adopted by Survey of India is ...../ 7% % ad (TH T4 Td) fordft off = R SaRi
3 TR TieT TRIAeIUT R T e STl § 1 6 37 2181 g

1) Mumbai/ H_@lé

2) Chennai / %ﬁl‘s‘

3) Kolkata / PIcIpId
4) Goa/ Tl

Q 8) Total Station is a (an) ..................... /A LRRATD oo %

1) Mechanical Instrument / TifAdh IuBHRT

2) Magnetic Instrument / W YD

3) Electrical Instrument / ﬁ'c?ga YD

4) Electronic Instrument / 3@3@% YD

Q 9) Name the instrument shown in figure given below. / RIECACEE:] faRdTY 77T FUHBRT
HTAH RS

ST warak
BEVELLED EDGE
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1) Alidade / T@IS S

2) Plate level / @IE R

3) Trough level / ¢Ith ¥}
4) Sight level / T3¢ TR

Q 10) Metric chains for surveying are made in lengths of .................. /d BA B fam R
ARG I B AR g &

1) 10 m and 20 m/ 10 Ht 3R 20 7
2) 20 m and 30 m / 20 Ht 3R 30 7t
3) 30 m and 40 m / 30 T} 3R 40 1t
4) 40 m and 50 m / 40 HY 3R 50 #t

Q 11) The length of Gunter s chain is .............. /TR b o Bl awrs“ .............. gt %

1) 33 feet / 33 IC
2) 44 feet / 44 I
3) 55 feet / 55 I
4) 66 feet / 66 BIC

............ R afga g e

1) North end IR BR
2) South end / af&olt ®R
3) Eastend / t@f@ﬁ?

4) West end /A BR

Q 13) What instrument is used for accurate centring in plan table survey? / Wl ERESCE:]

et YT & T I IT SUBHR0T SUANT fhaT Sirar g 2

1) Plumb bob / @ Sid
2) Plumbing fork / TfSHT Bidh
3) Alidade / TS S

4) Trough compass / CIth T

Q 14) What is a sextant used for? / fpgas folg Jauce WWWW% ?

1) Measurement of height above horizon / férfast & SR B d'otll‘g HIYAI
2) Time measurement / JHY HUAT

3) Distance measurement / ?L{\P[ HIYAT

4) Speed measurement / T AT

Q 15) The minimum length an instrument can measure is called as ............... / SUBRU] Bl
RECEEGE IR ka1 S B

1) Accuracy / gibar

2) Estimate / HcUlh

3) Precision / 3Ugdd
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4) Limitation /ATHTEG

Q 16) In chain surveying, field work is limited to ................... /AT ﬂﬁﬁ, BIeE BT S
............ LEARIERAIRIN

1) Linear measurements only / FHad XM q1g

2) Angular measurements only / $Had UG AY

3) Both linear and angular measurements / YT 3R By A

4) Linear, angular (vertical and horizontal) measurements / i@u, CAIR) ( JedTeR 3R
HY

Q 17) A relatively fixed point of known elevation above datum is known as ...../ SICTH &

W J1d Hdls &1 3UeHd Afya fig ... 8kt ]

1) Reference point / 5y 1%1?;;
2) Datum point / s ﬁi‘g,’

3) Bench mark / d¢l g

4) Reduced level / YCT g 3T ¥R

Q 18) Error in measurement due to eye vision is termed as ............ / 3l P 2D &b BRI
auEe . & T UH IHET A8 |

1) Sight error / 3fadlid=1 Ffc
2) Parallax error / HTHIHIAR ﬁ%
3) Visual error / €Y _aj%

4) Climax error / FATSHR _aj%
Q 19) Chain suéveying is not suitable when .................... /T 9 SUgdd TEI gt § 59
G0l

1) Ground is fairly level / STHIF JUI U ¥ JHA &l

2) Area is small in extent / éﬂsr &1 [dwR ®&H Epf

3) Too many details are required / I faaRuT Dt STa=gH T 8l

4) Plans are required on large scale / a@ TN R W B TaRgehd] gl

Q 20) Figure below shows one of the items required for chain surveying. It is ..../ BIE| IaﬁlQ

Y R H = 6 & fRY SH1a<a T RITE ... 8

1) Ranging rod RIS
2) Staff/ ¥}
3) Wooden peg / ?‘Iﬁ CARF
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4) Arrow/ aﬁ

Q 21) Pacing (figure below) is one of the methods of measurement of horizontal distance.

One stride = .............. /%@ﬁﬂﬂﬁ@%%(ﬂ%%ﬁﬁ)%@%=

1) One step/ Ych haH

2) Two steps / & HGH

3) Four steps / R haH
4) Eight steps / 3T hqH

Q 22) The instrument shown below counts the number of paces. What is NOT true about it?

/R feaman T SUHRT U &t TveT ot T At 81 39 A 1 I gl 82

1) It is called passometer / g TgHeR hedldl %

2) Its mechanism is operated by the motion of the body [T &t 1fd gRI QHED O or
EARSEINGAL I CIRIN]

3) It resembles a watch in size and appearance / g 3IPRR 3R T o ‘E95nl ST Ut grar

4) Tt should be held horizontally in the pocket / 3 Ufdpe H &ifdst 3@ A1feT

Q 23) When survey line is longer than a chain length, it is necessary to align intermediate
points and this process is called ............ Gl T4 NIES] GGl g I ol Eﬁ?ﬁ %, Hegadf
fagat ! TRRAT HAT 3Mau® § IR ST UBAT DT ........... o

1) Aligning / TS
2) Straightening / e g
3) Ranging /

4) Radiating / Yeufe

Q 24) In chain surveying, lateral measurement from the base line is called ....... / e

AU H ST AT I WS AU Bl ... BRIl &

1) Off-set/ 31t T
2) On-set / 39 e
3) In-set/ g1 e

4) Out-set/ T3 T
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Q 25) A theodolite is a precision instrument which can measure angles in ..../ m@ﬁﬁf
TS EIdh IJUBRUI ¢ Sl BV Bl ........ H AT Fhll 6l

1) Horizontal plane / afas grada

2) Verical plane / JeFTER JHAA

3) Both horizontal and vertical planes / Afas 3R Ieater AT
4) Any plane /Tt oft Haa @R

Q 26) Turning the telescope of a theodolite about its horizontal axis in vertical plane through

180° s called ......ovvven...... /180° TR SHE@TR T & O &fcst 4 & T Rrsiage
®I GREH B gHAMT ............ HEadl g

1) Transiting / EA'II%”E‘I
2) Swinging / AMIGR
3) Orienting /

4) Centring / BT

Q 27) The type of traverse which is NOT shown in figure given below is ............ / TaY BT
T UHR W 419 & fom & 7t R man g . %

1) Open traverse/ 394 @aﬁ

2) Closed traverse / ENIES Ejaﬁ

3) Compound traverse / GIER) E’Iﬂﬁ
4) None of these/ s:lﬁ | aﬁ_g 8l

Q 28) The vertical distance between two consecutive contours is known as .../ TR al

T & T AFIT G B ... =Y B ST ST 3|

1) Contour space/ A= T

2) Contour gap / A= 1Y

3) Contour interval / A 3R
4) Contour distance ISEIEs) ?\Pf

Q 29) The height or depth of a point above or below the assumed datum is called/ Wﬁa

P SW I 19 T f6g Bt s 1 TERTE B el ol &

1) Reference level / TJeH W
2) Reduced level / 9CT 3T XX

3) Real level / ARAdd TR
4) Related level / T TR

Q 30) Which among these is the fastest way of surveying? / E:I'E[ J D Id B! Aol
fshar g

1) Chain surveying / o A&
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2) Plane table surveying / JHJA Id gaaur
3) Compass surveying / Y e

4) Theodolite surveying / YIS TGl

Q 31) In setting up a plane table at any station ...................... / Tt =M ¥ THad cad B
SECH ... il

1) leveling is done first / SIQelT qsa o1 ST %

2) Centring is done first / Jefar tl%@f foar %

3) Both levelling and centring are done simultaneously / AafeiT 3R Fefar gFl Iry Iry
foan oI &

4) Orientation is done first / q@a 3%”?3. < fopaT SrdT %

Q 32) The instrument used for accurate centring in plane table survey is ..../ @ ogd qd A
e Tl & SUANT fohaT STM arell SUHR ......... Bl &

1) Spirit level / f&fve daa

2) Alidade /

3) Plumbing fork / @S Bl
4) Trough compass / ¢Ith hHIH

Q 33) The degree of a curve is the angle subtended by a chord of ................ / U deb i
& ........... B U SiaT H SHaeied BT g |

1) 30 m/ 30 4t
2) 25 m/ 25 |
3)20 m/ 20 |
4)15m/ 159

Q 34) Figure given below shows what a chain used in chain surveying has at its every tenth

link. This is called ......... /== feam an o feard @ o = gderor & SugiT &t oA areht
$Te & UAP Gd foies R FTBIAT &1 T8 T Il © .

1) Tag / |
2) Telly / <l
3) Tip/ feU
4) Strip / ey

Q 35) The size of A4 Drawing Sheet is ................. / A4 RS BT BT HPR ...

gl g

1) 594 x 841 mm/594 = 841 ot
2) 420 x 594 mm /420 x 594 ot
3)297 x 420 mm / 297 x 420 ot
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4) 210 x 297 mm / 210 x 297 fore

Q 36) An imaginary line joining the points of equal elevation on the surface of earth

represents ........... /q%ﬁﬁ gde U JHIH @qléﬁﬁgﬁﬁﬁaﬁaﬁrwm
@ &I GRITd 5|

1) Contour surface / o gde
2) Contour line / A 3T

3) Contour gradient / WR oldl
4) Level line / TR &1 34T

Q 37) What does it represent if the contour lines are close to each other with decreasing

values towards the centre? / ¢ JH= i@Tﬁ % P 3R ged AF & 1Y W—W &
Ty g o I 1 SR &2

1) A hill / T UgTS! BI

2) Ariverbend/wqaa’ﬁﬁgaﬁ
3) A depression / Udh 3G9 Bl

4) A pass /Wqﬂfﬁ

Q 38) In chain surveying field work is limited to ..................... /1 94 & IS 9%
.................. % S siaT g |

1) Linear measurements only / FI IRH A
2) Angular measurements only / dhad v [T
3) Linear and angular measurements both / I 3R B0y Ao g

4) Liner and / or angular measurements depending upon area to be survyed / 4 fd s

aTdt &5 & SFUR & R / 1 HIofg A=

Q 39) What is the purpose of tie lines in chain surveying? / ECRCE:| E'I_sc als:il' DI [

&Y BIdl g7

1) To check accuracy of survey / TI&fUT 1 GeIhdT B S HRAT
2) To avoid long offsets from chain lines / o A3 ¥ A9 3Hhde ¥ ST
3) To take offsets for detailed survey / ﬁﬂa Hd&ur & T Siimde o

4) To increase the number of chain lines / a:f Q'1I°\3"|\I' CARIEC del-l

Q 40) The maximum tolerance in 20 m chain is .................. /20 HIER B o= H SIHad
LI I &l

1) 2 mm /2 fodt
2) 3 mm /3 et
3) 5 mm /5 fet

4) 8 mm / 8 et

Q 41) In quadrantal bearing system, back bearing of a line may be obtained by ......... / forit

Tqy feamior yurelt & fodt @re= &t uy fGapivn ........ gRT SR &1 off Tdbal ol
1) Adding 180°, if the given bearing is less than 180° / 180 ° \_rh_s,'W, e fear man

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=21 8/31



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=21

feapIr 180 c A HH

2) Changing the cardinal points i.e. substituting N for S and E for W and vice-versa /

HIfed Ulge B! o HIP T S F T W N 3R W & R E B! Ufaid w3
3) Subtracting 180°, if the given bearing is more than 180° / 180 ° YUCIHI, e faar 71 SRR
180 ° ¥ 3 §

4) None ofthese/g_"lﬁﬁa'ﬁ_sc:ﬁﬁof

Q 42) The bearing of the lines AB and BC are 146° 30" and 68° 30°. The included angle
ABCis ......... / AB 3R BC &1 313l &7 faadbIvn 146 © 30 68 3R 68 ° 30 AB §1 Jiald
DIUABC ......... B

1)45°/45°
2)78°/78°
3)102°/102 °
4)112°/112°

1) Does not remain constant / R 7Y e %
2) Fluctuates / 3dR deld 6\|d| Redl

3) Changes abruptly / 3dl-d giad grdm %
4) Remains constant / RR Yedl %

Q 44) The instrument that cannot be used to draw curved lines is .............. /dg 3UhU]

ST STAIT g% Y@n3il & Wiem & foe T8t fbar sr gsdrg ... |

1) Bow compass / S B
2) Set - squares / T - W
3) Large size compass / a%’ TP R D hHTH

4) French curves / T Hl

Q 45) A sheet measuring 594 x 841 mm is of size designated as ............ /594 x 841 Toret

HTY gTeft Ueh 2fie BT MBR ............ ¥ wud fAfiéy grar gl

1) Ao/ Ao
2) A/ A
3) Az / Ao
4)As/ As

Q 46) The method of surveying in which field observations and plotting proceed

simultan@eﬁ%l{[s%y iS v /ﬁwﬁﬁﬁfﬁ%ﬂﬁaﬂaﬂwaﬁ?mﬁﬂwmu
......... I

1) Plane table survey / @ I Id
2) Chain survey / 9 94

3) Compass survey / HY Td
4) Tacheometric survey / %ﬁm Td

Q 47) What is a pantograph used for? / o frgd INEEESEINACRAIRSIG %?
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1) To measure distances / gl?ql HI AU S 1%1?
2) To measure areas / W &I AU & ﬁ“l'q

3) To enlarge or reduce plans / Wil Eal GIQ}I:I 1 HH HRA %ﬁ’ﬂ!

4) To set out right angles / HBIU §H & fam

Q 48) A relatively fixed point of known elevation above datum, is called ............... /SCH D
SWR A SHaTs B T HUeTHd i foig, o’ ... PETST R

1) Reference point / oy g
2) Level point / ¥} ﬁg
3) Datum point / ScH ﬁg

4) Bench mark / &
Q 49) What is a sextant used for? / e e fhgd foru sTauTd fowar Srar %?

1) To measure speed / T 1 ATGA & %I'Q

2) To measure angular distance / HIvig _g'_\ﬁ HIATA S ﬁ'ﬂ;f
3) To measure linear distance / RiRGLY ER)[ CARIPE A
4) To measure time / JHY CAR e f%nq

Q 50) What will you use if area of an irregular figure is to be measured? / gfe fdt
HTITHT SMTHIT HT &S HTAT ST § al ST [heepT SUART B2

1) Planimeter / TR
2) Clinometer / FIHCR

3) Alidade /
4) Abney s level / T8 dadl

Q 51) For measuring true difference in elevations between two points A and B, the level

must be setup ............. /ﬁ%ﬁAﬁB%EﬁaﬁTﬁﬁWWﬁm%ﬁﬂ,
ATA B ... RTUd HRAT BRI

1) At any point between A and B/ A 3R B & & ot lﬁﬁgm

2) At exact mid-point between A and B/ A IR BF & %I?g"_d HY ﬁl—g‘; W
3) Near the point A /ﬁ'g; AP U

4) Near the point B /%i‘g,’ B & U™

Q 52) The cross hairs in surveying telescopes are fitted .................. /qd §§§i|:i|' oo

25— ftpe fpu oTd §

1) In front of the eye piece / @ﬂé U & A

2) At the optical centre of the eye piece / &ﬂﬁ U & 3P Hd g R
3) At the centre of the telescope / g?‘q%r & g o

4) In the objective glass / 3Teliaed T |

Q 53) In setting up a plane table at any station ............... / fordt i e IR wH e

1) Levelling is done first / ugd Aafel fosar STl %
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2) Centering is done first / 113?}[ @Eﬁ"T ARSI %’

3) Both levelling and centering is done simultaneously / AafeRT 3R Fefm gt Udh g1y
CRISIGIE

4) Orientation is done first / ITE!@T m fooar ST %

Q 54) In plane table surveying, the instrument used for accurate centring is .......... /&

<gd & ¥d |, e AT & g gxaHTe foham S ara SUaR . .......... glar gl

1) Alidade / TS S

2) Plumbing fork / TR Bl
3) Spirit level / fRUTe T

4) Trough compass / TP DY

Q 55) The bearing of a line in the direction of the progress of survey is called ........... /qd

AR IR R R C R SC I AT S LY K N ST Sl g

1) Fore bearing / BR foafar

2) Back bearing / 9@ fagfe

3) Whole circle bearing / gd gidha foafer
4) None of these / g:lﬁ @ﬁé it '_'T_pr

Q 56) Which of these is used to measure the length and direction of consecutive lines? /

ST Y@t ) daTs SR fa=m Y Aom & forg 3w @ foprept SuminT faha SiaT 22

1) Chain /T
2) Transit / ET%I_C'
3) Theodolite /

4) Traversin / Eaﬁf:{

Q 57) A point whose level is to be determined, is called ........... / T ﬁq’g ISREIESN
FyiRd P e 18, 39 ... E SIS

1) Change point / | ﬁ‘g

2) Station / WX

3) Reference point / W'-‘-fﬁf_c'\{,
4) Bench mark / '

Q 58) A plumb bob is used to check if objects are ................ /diged qid BT TN T8
e & fore faran o & for s oy ... G

1) Horizontal / RIGE

2) Inclined / bl
3) Vertical / THId
4) Flat / Hdd

Q 59) 10 Gunter s chain is equal to ................... J10TER AT o %W@?ﬂ%l

1) 1 furlong / 1 AT
2) 1 mile / 1 Hid
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3) 1 kilometre / 1 fp@HIex
4) 10 furlong / 10 T@ANT

Q 60) What is an integral part of a theodolite? / m@ﬂﬁf BT TH A ST T %?

1) Microscope / ga% il

2) Macroscope /

3) Magnifying glass / fwﬂuﬂsﬂ RIS
4) Telescope /

Q 61) What drawing instrument is used to draw inclined and parallel lines? / 3{d-d 3R

THTIAR YaT3f & Wi & e ford ST IuehRur o7 SUTNT a1 ST 82
1) Divider / f&argex

2) Set square / T - B
3) Compass / HTH
4) T square / A WHIRR

Q 62) In prismatic compass zero is marked on ............... / Oy o o I G2 [ |
Sifpagiarcl

1) East/ Uﬁ
2) West / Tfgg

3) North / 31X
4) South / Gf&IOT

Q 63) The first reading from a level station is ................ / Tt dad wRE 9 U ugalt
/ET . gl g

1) Foresight / BR Y

2) Backsight / 9% T3¢

3) Intermediate sight / ETlﬂ%Q?f qlgc
4) Any sight / P13 Ht TI3C

Q 64) During levelling it is found that back sight is more than fore sight. It means .... /
N X Y\ EN ~
SaTeiT R o GRI Jg U STl & [ 9 I8 BRATSE ¥ YD it 5 | SHPI

1) The forward staff is at lower point / BRAS W% faa PGTQ‘; [°E3 %
2) The back staff is at lower point / 9% T e ﬁ'g; W %
3) The difference in level cannot be ascertained / A9 b AR BT U :lﬁ T oIl Hh dl

v
4) None of these / ESEE aa_sc ghil

Q 65) An angle measured clockwise from the preceding survey line to the following survey

line is called ......... / gaad! 9d A1 ¥ Sdd! 94 A18- b ge! B (G | JTGT 7 10T

1) Direct angle / Y& HI0T
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2) Vertical angle / SeafeR BT
3) Horizontal angle / afas o
4) Deflection angle / faequr w1

Q 66) A reverse curve consists of .................. /Th Radawd a?ﬂ %I

1) A single curve of a circle connecting two straights / al tl'@tﬁ Gl \_rh?aef aral gd I U
Udhdl dob

2) Two arcs of different radii in the same direction / Uch _tﬁ %QTT H EBT ST 37T st
& 91

3) Two arcs of equal radii bending in the same direction / Uch gl fa=m o i:id):l CIRICRER
fEeanaii & & =

4) Two arcs of equal or different radii bending in the opposite directions / faudta fezman &
b1 Tl SRTSR T S{eRT-37eiTT s efl o &l =y

Q 67) If the elevations along the road increase, the slope of the road along the longitudinal

direction, is known as ..... /afe qJsb P é’)dl'éa@?ﬁé, ar &Iﬂ%?ﬁ fqen SRS ARG

1) Gradient / ‘EI%QE

2) Grade / DS

3) Positive grade / P RIHD DS
4) Negative grade / TP RIHD us

Q 68) An ideal pavement is constructed with ................ / G 3Te Uy ol fafor
................ 3 foma ST B

1) Hard soil / BHOR ﬁl—gpf

2) Bricks / 3¢

3) Portland cement concrete / tidds Hide dole
4) Tar / CRR

Q 69) A branch of surveying in which the horizontal and vertical distances of points are
obtained by instrumental observations, is known as .... / Jd&uT Bt Udh T, foraqH ﬁ_{;\?’h
&1 &fet SR SHearer gRat IuHRug s/aaie gRI UTE &1 Sl 8, IT®

1) Chain surveying / o9 99
2) Plane table surveying / W ¢9d Id
3) Tacheometric surveying / %ﬁﬁm Td

4) Hydrographic surveying / E'IE@";ITW Td

Q 70) Failure to provide for safety may resultin ................. / GRET Ul A H f[dmad &
................ RREDIE

1) Pain / 1)

2) Injury / i€

3) Loss of time and money / HY Gﬁ? ¢ P E'Tﬁ
4y All of these / T T}
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Q 71)% A 20 m chain is divided into .......... /A 20 H 9 BT T | faurford fasan
TIG|l

1) 20 links/20 feid
2) 50 links /50 feids
3) 100 links/100 foid
4 150 links /150 feid

Q 72) In a prismatic compass zero is marked on ............ /Ach fUsHide s | ][ Eal
........... R Ffgd fsar T |

1) North end /3T 3
2) South end /T 3id
3) East end /Clﬁf 3id

4) West end /afgrt 3id

Q 73) Chain hgs .............. rings at every one metre length A H T HieR Dt ?ﬁﬂg W
g

1) Brass /dtad
2) Copper IGIEI]
3) Bronze /dtad
4) Steel /I

Q 74) A magnifying glass has a /U 3madd Ha A Udh %

1) Concave lens /3{cRTA o
2) Convex lens /3¢l o
3) Concavo-convex lens /3{dRTd- 3T o

4) None of the above E:FE[ I ﬁ's“ 1t :lﬁof

Q 75) During chaining, what is NOT done by the leader?/AT & <‘:I<I"|, dtex gRI &1 8l
o T 82

1) Drag the chain forward /T 3 i

2) Insert arrow at end of every chain/TA® 9 & 3fd H IR STl

3) Obey instructions of the follower/&lﬁql'iﬂ & el &1 ure B
4) Carry rear end of the chain /A & TS B el o

Q 76) The maximum tolerance in a 20 m chain is ..../20 H a:f T 3ffdpdH F%@Fﬂ

1)+ 1 mm
2)+ 5 mm
3)+ 10 mm
4)+20 mm

Q77) e is an instrument for duplicating geometrical shapes to a reduced or enlarged

scale. /............. , ST S fadl & & a1 98 THM IR giRidhe B & e U
JUBRUI T |
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1) Clinometer/@IHTHER

2) Pantograph. '
3) Alidade /

4) Sextant AFge<

Q 78) The type of survey which requires minimum office work is/ A& BT THR forqd
Y HTaTd & BTH DI RIS §

1) Chain survey /A g

2) Compass survey /o HH qd

3) Plane table survey /@ g Id
4) Theodolite survey /A3fifsfee ad

Q 79) In chain surveying, field work involves .... /27 J3&0T &, &g & o e 8

1) Measurement of distances only@ &1 A0 had

2) Measurement of angles onlyw HI0T T ATGA

3) Measurement of distances and angles both@ 3R HYOT BT AT G
4) None of the above E:Iﬁ I ﬁé 1t T—|€[

Q 80) The bearing of a line in the direction of progress of the survey is called ..... IESEREE]
Tl o1 fG =T T Uh T T 3R HEardl o

1) Back bearing /9 3T

2) Fore bearing /PR ST

3) Whole circle bearing /| gfcher daif
4) None of the above @ﬂﬁ I ﬁ% it '_-|—E>P[

Q 81) A relatively fixed point of known elevation about datum is called/ el & IR ¥ A1
Il b1 U 3epd Afdd g weremare

1) Bench mark/sd AT

2) Datum point /QIgH gige

3) Reduced level A@g dqd

4) Reference point RB tIV'IET:r

Q 82) What is shown below, as used in surveying, is ..... /e o SIATA o &0 I

EIE] ﬁl@mw%

1) Fork [PIH

2) Plumb bob/@d §id
3) Peg/ U7

4) Arrow/@
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Q 83) The minimum length an instrument can measure is its ../<J1dH T“Ia'l_'ic S U 99 719
qhdl g

1) Accuracy /Cllt‘{!@(_‘ll

2) Estimate /3{Ih I

3) Precision @ﬁ'@ﬁ?ﬂ

4) Limitation

Q 84) What does a surveyor use to mark position of a station?/Jd Tdeh Udh XIH Bt
fRuf 1 »4 fafgd drar g2

1) An arrow /@
2) A wooden peg ﬂﬁ BT
3) A staff/Sal

4) A tally /2dt

Q 85) In traversing, the traverse can be .............. @\aﬁh T, RS RRETIN

1) Open /Gl

2) Closed /A<

3) Both open and clased /&l gl IRT<
4) None of the above B:Iﬁ I ﬁ‘s‘ it q%)f

Q 86) Which tape is used for highest precision measurement, like baseline in triangulation

work?
1) Plastic tape [@IRCH BT <y
2) Invar tape /g=dIX ] g
3) Steel tape /ZXITd BT <Y
4) Linen tape INEE AR
Q 87) Identify the instrument shown below./ATd fGaTT T IUHRUT CARREIG
P /.4— Eye vana Objact vana _}/;/’
r, _--"|I :
/ V4
T T e amrarrra 1l
{ Fiducial edge/Bevelled edge

1) Alidade /3(eligTe
2) Planimeter

3) Clinometer fFTAHR
4) Pantograph Epiig

Q 88) Binoculars are basically ............. IESEl Hdld: g
1) Microscopes /H@Eﬁq
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2) Telescopes RS
3) Compass/hUrd
4) Links /fefaq

Q 89) Which of these can cause increase in length of the chain?ET'I'Ef J HI At I B T“Wlé
o gfg R Tl g2

1) Stretching of links and joints /i 3R \TI\I\?\I' CARCIERI)
2) Opening out of the rings / g &1

3) Pulling chain throughfcl?;f A Y o e hedges

4) All of the above /AHUR & Tt

Q 90) The area of any irregular figure of the plotted map is measured with ..... /e fhu g
Al & fordht ot sifFafiid srpfa w1 da . AT ST g

1) Sextant/JFIe<

2) Planimeter JiruEieirery
3) Clinometer [
4) Pantograph b Epa

Q 91) An imaginary line passing through points of equal elevation is called ...../SRTSR & alé
& 3ich Y T[GRA dTell Udh bledi-ch 1l Bl I Il §

1) Traverse @ﬁlﬁ
2) Contour /g
3) Map

4) Peak /A1

Q92) One acre = ............... AH Uhg =........

1) 1 Square Gunter s Chain /1 ¥&TUX ﬂ?ﬁ%ﬁ

2) 10 Square Gunter s Chain /10 ¥R ﬂ?ﬁa:f

3) 100 Square Gunter s Chain /100 ¥hTIR '{Eﬁa:f
4) 1000 Square Gunter s Chain /1000 TPTIR T o

Q 93) The size of DO drawing board is .......... /DO SIS S HIHT ......... %I

1) 1500 x 1000 x 25 mm
2) 1000 x 700 x 25 mm
3) 700 x 500 x 15 mm
4) 500 x 350 x 15 mm

Q 94) The longer part of Tee square, shown below, is called Blade . What is the other part
called? Fﬂ?%@mwﬂwaﬁrw YT, I8 IS Bl oTdl § dl GaR T &1 0
el SIdl 52/
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1) Stock/¥I®

2) Stic

3) Support/ Juie
4) Side/HIgS

1) Table drafter /eqd SlUc?

2) Mini drafter iail SIUc

3) Map drafter A SIUc

4) Surveyor s drafter AaaY SIUc

Q 96) Which of these is not for drawing curved lines? fs’:rﬁf I I | W@T LCICE
¥ forw Y 82

1) Bow compass /913 HUH

2) French curves g Hoy

3) Set - squares e ﬁf\’rlﬁ

4) Large size compass /ST HUR

Q 97) The book in which chain or tape measurements are entered is .... g feae d g ar

YA Sol fPUIAEdE o

1) Main book /A g

2) Surveying book @aﬁﬂ g

3) Field book /B b

4) Measurement book /HSRHC g

Q 98) What is the primary unit of measurement on engineering drawings?/g\_rnlamﬁll $|$"|
TR AU &1 WA ShIs 7182

1) Millimetre
2) Centimetre
3) Metre

4) Kilometre

Q 99) Figure below shows a tool used for protecting rest of the drawing sheet, while erasing

unwanted writing. What is this tool?/ATd &t TI—QF = T IUBRT &I gl % fSrgep1
ST SHIARAS OG- B HeTd U, Jh! dI SIS e Bi &M & g fovar Sran
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1) Erasing cover /Q?T@IT[ hd
2) Erasing mask / IR ORe
3) Erasing shield /AR 2fiee
4) Erasing plate /IR &I

Q 100) Hand signal by surveyor for ranging - Rapid sweep with right hand - What does it

mean for action by assistant? /TAETT & foTT Hderdh GRT 1Y Havd - GIfgH 81U ¥ US
WY - YgrID & foY ford SRaTs BT Adad 62

1) Move considerably to the right/a'Wqé:T 8¢ db aiil 3R RIHTARd B
2) Move slowly to the right / R-¢R gt 3R ST

3) Move continuously to the right / ST 3R AR T

4) Fix the rod RS B B

Q 101) Which of these is used to draw to draw inclined and parallel lines?E:FEf I ﬁ:[ g1
PTd SR GHMIR XT3 BT SHTH T B & forT SuaT favan irell g2

1) Divider f&aTex

2) Set square AT TR
3) Compass /U

4) T square /&Y WPTIR

Q 102) The lateral distance measured from the chain line to the object is called @WT |
e HAT I At T g p! eI i g

1) Onset/3{TT9C

2) Offset/3NTT

3) Right-set/R[gC e

4) Perpendicular-set/IRURGIHER U

Q 103) The difference in degrees between True North and Magnetic North is/J U7ef ITR 3R
BT IR b e feeh 7 aiek g

1) True Declination BHINIEEINE]

2) North Declination /3TIX EICSRIEE]

3) Magnetic Declination @aaﬂﬁ SfdeRE
4) Earth Declination / Rl SfdeT=H

Q 104) A series of connected survey lines of known lengths and directions is called .../3ld

TS 3R et & SIS Tderr drg-l Bl U 4ad bl KNI

1) Frame / P
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2) Triangulation /I%sm?lm

3) Traverse /¢
4) Range RS

Q 105) W.C.B. means ................

1) Wide Circle Bearing

2) West Circle Bearing

3) Whole Circle Bearing

4) Weighted Circle Bearing
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IL. 1 Answer key

1(\jil)l.estion Option 1(\jil)l.estion Option 1(3(1)1.estion Option 1(3::.eSti0n Option
1 1 31 3 61 2 91 2
2 3 32 3 62 4 92 2
3 2 33 1 63 2 93 1
4 4 34 2 64 2 94 1
5 3 35 4 65 1 95 2
6 2 36 2 66 4 96 3
7 1 37 3 67 1 97 3
8 4 38 1 68 3 98 1
9 1 39 2 69 3 99 3
10 2 40 3 70 4 100 1
11 4 41 2 71 3 101 2
12 2 42 3 72 2 102 2
13 2 43 1 73 1 103 3
14 1 44 2 74 2 104 3
15 3 45 2 75 4 105 3
16 1 46 1 76 2

17 3 47 3 77 2

18 2 48 4 78 3
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19 3 49 2 79 1
20 3 50 1 80 2
21 2 51 2 81 1
22 4 52 1 82 2
23 3 53 3 83 3
24 1 54 2 84 2
25 3 55 1 85 3
26 1 56 4 86 2
27 3 57 2 87 1
28 3 58 3 88 2
29 2 59 1 89 4
30 2 60 4 90 2
Surveyor L. 2

Q 1) In order to measure a horizontal angle more accurately than a vernier, method of

.................... isused./ﬁ%ﬁﬁﬁmmamwama?ﬂﬁ,
......... ! Ufohar &1 IuTNT fosar STTar 8

1) Repetition / 3‘”@%

2) Reiteration /

3) Deflection angles / faguu oo
4) Double observation / AR CRIER]

Q 2) Traversing by the method of deflection angles is chiefly used in ........... / fagror o
® R gRI AR ST T T ....... T ST AT A g

1) Canals / gX

2) Highways / ITST AR
3) Railways / ¥@

4) All of these / T FHT

Q 3) A series of a closely spaced contour lines represents ............. / Th HJHIH @ qreit
U= G137 Bl U 4T ....... SRl g

1) Steep slope /@33[ NIG!
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2) Gentle slope / gAD! e
3) Uniform slope / Uh HHIT Gl
4) Plane slope / HHd T il

2) Valley / 9Tc
3) Plane ground / FHdA TeH

4) None of these/ EREIERE]

Q 5) When it is not possible to locate the levelling instrument in between the inter-visible
points, levelling as shown below is done. This type of levelling is called ..../ SId 3dR-€RY

ﬁg@f%a‘]ﬂ AafelT SUBRUT BT UdT TN IHT Tal ©, di = femm 71

s ]

g El\“_‘:‘—-:-_‘::_- N3

1) Differential levelling / 3{~_1g QaTeiT

2) Fly levelling / TS QiafeiT

3) Profile levelling / lﬁW gt

4) Reciprocal levelling / qu_(ﬂ SCIS

Q 6) For true difference in elevation between two points A and B, the level must be set up

%%Sﬁ@qeﬁ?aﬁaaﬂaﬁrs‘ﬁamﬁaﬁ&m%m, ............ Jael -ITfd fbam S

1) At any point between A and B/ A 3R B %WW%@W

2) At exact mid-point between A and B/ A IRBF SEH dad ﬁsl_gr |
3) Near point A/ ﬁ_gr INCAREL

4) Near point B / fé"g' B & fAdc

Q 7) Total latitude of a point is positive if it lies ................. / Uh f%rg' T Pl &R
YHRIAS § ARG TG ......... WA @

1) North of the reference parallel / T IR & W
2) South of the reference parallel / g IHHiaR & aféor
3) East of the reference parallel / T IHFIR & Uj

4) West of the reference parallel / g5y IHHIR & ufgm

Q 8) The line of collimation method of reduction of levels, does not provide a check on ....../
WRI T HH BT DR UfhdT DI, ... R ST 51 Ua Bl o
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1) Intermediate sights / HE® Ei
2) Foresights / 34 Hid

3) Back sights / UY e

4) Reduced levels / YT g3{T ¥}

Q 9) In the method of plane table surveying as shown below, the plane table is located at a
point P and the stations A, B and C are sighted and rays Aa, Bb, and Cc are plotted. This

method is called ............ G EETQ ¢ JHAA arfereT Tde&mr ot fafdr A

Tn P ogilal

1) Tracing method / ¢RI Ufghan

2) Lehmann method / ©igH Ufohar
3) Analytical method / FHATT Ufhar
4) Graphical method / UTH I UfdhdT

Q 10) Figure below shows two types of curves. Name the (a) curve on the left (b) curve on

the right. / 1 f&RaTq 7T fort 7 &1 a9 @MU U §. 0 91 (%) Si1 a6 (W) &A1 I

1) (a) Reverse curve (b) Spiral curve / (P) EIW deb (M) WISl deb

2) (a) Compound curve (b) Spiral curve / () TaoId ah () [T deh
3) (a) Spiral curve (b) Compound curve / () TIgc] deb (M) Haold I
4) Compound curve (b) Reverse curve / () LUISCECED €C)) EI'%W ddh

Q 11) When a curve is to be set out over a rough ground, the method used is ..../ SId Udh

AT Tdg UR dgh ST STl §, STH SUTNT &1 S arelt ufshar ... g

1) Rankine s Method / T ot ufgean
2) Two Theodolite Method / & A3GIcTse UfhaT
3) Tacheometric Method / W gichar

4) Either Two Theodolite Method or Tacheometric Method / Tl di &l Ysfaiarge ufthar a1
chfes U

Q 12) Figure below shows a sloping member which is placed along the edge of a pavement.

Itis called ........ / e femme e foF © Te Tifthy 9e § o Ued Uy & fhaR /T
T RIS oo T ESIGIN
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Thickness

1) Berm/ CL

2) Kerb / Gl

3) Boundry stone / ETB'@ T
4) Edge stone / fP IR ©

Q 13) The super-elevation on roads is ................ /8 TR W—Qlaanq .................... %
1) Directly proportional to the width of the pavement/ U Go| Eﬁ@'ﬂ—g & Hﬂaﬂqﬁﬁ

2) Directly proportional to the velocity of the vehicles /dlg & AT P SWIT‘F[
3) Inversely proportional to the acceleration due to gravity /[®cd & HRUT 3T R0 &

4) Inversely proportional to the radius of curvature / dbdl ExKg Wﬂqﬁﬁ

Q 14) Reconnaissance is best done with the help of .............. / Uj—ﬁ&m ............ P eI
Y ordt e & forar s §

1) Aerial photographic survey / wRad PICRITHT Ta&ur
2) Condastral surveys / DS A&l

3) Topographical survey / HW e

4) Triangulation survey / F wivftg Tdemor

Q 15) Excssive camber on pavements may cause .................. /Uy U 3fe HrR
.............. &1 HRUT 8l Yl §

1) Deterioration of central portion / W HAT hT Y Eﬁ:ﬂ
2) Slip of the speedy vehicles towards the edges /aST X I aTd T &1 [k &1 dRb
foraerr

3) Erosion of berms /SR BT 3RS
4) All of these/ 3T Tt

Q 16) An ideal pavement is constructed with .................. / 3MTeR Uy ... &1

gidrg

1) Bricks / _sc_cr
2) Hard soil / 9% fHet
3) Portland cement concrete / Uiéds diie dwie

4) Tar / CIR

Q 17) The multiplying constant for the tacheometer is generally kept as ............ / THITER

& T TUres FRRTH 1 U ........ & U H 3@ STl g |

1) 20
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2) 40
3) 60
4) 100

Q 18) The value of additive constant for the tacheometer varies from ............ / SFHIR &
fere diores fRRTS HTHM ... ¥ A Bl 5

1)0to 15 cm/0 Y 15 T

2) 15 to 30 cm / 15 T 30 TJHt
3) 30 to 45 cm / 30 T 45 THT
4) 45 to 60 cm /45 T 60 TJHT

Q 19) How long does it take a GPS satellite to orbit the earth?/ Rl DI P& H Udh \_rﬂ'lﬂw
sYide Ugd- ﬁ [l HHY Il %‘?

1) 2 hours / 2 b
2) 8 hours / 8 ard
3) 12 hours / 12 ©¢
4) 24 hours / ¥ rd

Q 20) In AutoCad, one quick way to view the entire drawing area is to use the Zoom

command by typing ............... / TIPS H, UB’W &3 Pl ¢ BT TH ARd dRIbl
TH HHS g S HTITNT ............ TT2Y HRb [haT I Yhell §

1) Type Z enter A enter/zQETWAQET$E'I§qa°_§'
2) Type Z enter E enter/zﬂamEW$a§qaﬁ
3) Type SHOW ALL enter / SHOW ALL UcX T30 &3
4) Type ALL enter / ALL UcR CIgU oy

Q2D In oo method of plane table survey, a ray is drawn from the instrument
station towards the point to be located. / @ CTT T DT oo fafer 'Ef, Uh
fohR0T ,IUER0 TRH ¥ 39 fag o1 SR Wi et & ford

1) Intersection / EE@EF‘ZFT
2) Radiation / fafesRur

3) Traversing / Cal¥{

4) Any of these / sﬂﬁ@rﬁs‘ ot

Q 22) The line joining the points of equal dip are called ............. / 1 U &1 ﬁ_g"&ﬁ Pl
forer arclt XA HET I B

1) Isoclinic lines / KRR C IR RG]
2) Isogonic lines / 3SR X
3) Aclinic lines / Gfaaf-ep T

4) Agonic lines / mﬂmw

Q 23) The operation of levelling to determine the elevation of points, which are some

distance apart, is called ............ / ﬁ’g&ﬁ aﬁ‘ﬁs‘ﬁuﬂﬁwﬁ%ﬁwmﬁﬁ
fra, NP P REANR, T6 ... HEan gl
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1) Reciprocal levelling / IRTIIH A AT
2) Profile levelling / TTHTSS Qg

3) Precise levelling / TS oafeT

4) Differential levelling / TS RIad TrafeT

Q 24) The rise and fall method of reduction of levels provides a check on ........... /A H
HH DI A2 SR BI e fafd ..., R UH TP UG- Bl g

1) Back sights /% qigc
2) Fore sights /WH'IE_C'

3) Intermediate sights / UIfeue ggc
4) All of these / T T

Q 25) What should be the suitable contour interval if map is to be drawn on a scale of 1 :
10000? / TS &R 1: 10000 P FH TR Wi STY < SUGa FHI fRTed T &1

Gl

H2m/2H
2)5m/54t
3)10m/ 10 |
4)20m /20 |

Q 26) In indirect method of contouring, the best method of interpolation of contours is /

T @ Sugel fafd o, Sepfa & Ue &1 Tad ST aRiehT §

1) By graphical method / ifthehd fafd gRT

2) By estimation / 3{JHI gRT

3) By arithmetical calculation / SIHIIOTAI TTUT GIRT
4) All of these / g qi & aRT

Q 27) A deflection angle in a traverse is equal to the ................. / fop it éaﬁf[ T fagmu
B .......ooc.... & SRR BT 5|

1) Difference between included angle and 180° / 3fad P01 3R 180 © &F o & 3R
2) Difference between 360° and included angle / 360 ° 3R 3 I & S & R
3) Sum of included angle and 180° / 3T d PHIUT 3R 180 © & TNT

4) None of these / 371'1?[ I ﬁ'sf :léT

Q 28) The degree of a curve is the angle subtended by a chord of ............... / forit ach &t
RG] B & offal & GRT THIE §1 HIUT gl g |

) 15m/ 159

2)20 m /20 |

3)25m/25

430 m /30 4t

Q 29) The curve used for ideal transition curve is a ............... / 3MTeRf U HUI I & fam

TIFA TGP ... gaTgl
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1) Cubic parabola / Y UXdefy
2) Clothoid curve / FAYTTS TH
3) Cubic spiral / Wﬂﬁ%‘[

4) Lemniscate / A1'[S

Q 30) Reconnaissance for road survey is best done with the help of ................. / HSh qd

GARTE | E Pt Ace A I 33T fHaT A 5|

1) Aerial photographic survey / s?ﬂ's‘ BICRIThd Ta&ur
2) Condastral survey / HEREA A
3) Topographical survey / WW Jdefor

4) Triangulation survey / oM wdemr

Q 31) If no super-elevation is provided on a road along the curve, pot holes may develop at

............... /TS Iop & 1Y fohlt S WR Is JUR-UIIARA U 8! fowa Sira g, at
o1 =1 [ R 3w Ryd g1 9o g

1) Inner edge of the road / HSP & HIdRT fearT
2) Outer edge of the road / HSdh & Fe<t fopRT
3) Centre of the road / HSPh & Hg

4) Nowhere on the road / Hgd UR Fal gl

Q 32) There are two constants of tacheometer. What are they? / DR & ol RIS g
HEERI

1) Multiplying constant and additive constant / {[UITHb fRRI® 3R TS RRIS
2) Multiplying constant and subtractive constant / J[UITH® fRRI® 3R SR fRRIH
3) Dividing constant and additive constant / Ui fRRT® 3R ad® RRIH

4) Dividing constant and subtractive constant / Ry R 3R iRTAS RRI®

Q 33) The anallactic lens provided in tacheometer is ..........  epHeR | AT q«uéfq\cqo
AT gl

1) Concave lens / 3ddd] o
2) Convex lens / 3l o

3) Plano-convex lens / HI-3Td O
4) Plane lens / I RSES|

Q 34) One quick way to view the entire drawing area is to use the Zoom command by -------

------ /X STETT &F P G BT TH @R TABT G —-eeeemee BRPB G HHIS BT SUANT

1) Type Z enter A enter / CIQU Z QCQ A QC(

2) Type Z enter E enter / CIQU Z UcR E TR

3) Type SHOW ALL enter / €73J SHOW ALL UcR
4) Type ALL enter / €180 ALL Ucx

Q 35) Which command converts discrete objects to polyline? / S T HHIS 3 d%g\?ﬁ

D! UTcies # uRafdd H3d1 82

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=21 27/31



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=21

1) Union / g4

2) Subtract / ﬂﬁ%ﬂf
3) Join / SIS

4) Polyline / Tdlicirg

Q 36) Using 20 m, distance measured was 720m. If the chain is 4 cm too long, the correct

%gtagce is .../20 HYeR I T SXHTH T, g8 AT 720m, TfS o 4 It ell €, Y Wal

1) 720.44 m
2)721.44 m
3)722.44m
4)723.44m

Q 37) A measuring tape may be made of invar, which is ..../Ud Y STy LUAR P -l
REEGIGACIRGS g.

1) An alloy of iron and chromium G 3R HIftrH &1 o Oy Yrd
2) An alloy of iron and nickelK’hBT 3R Apa &1 Uh oy Yrd
3) An alloy of iron and tungsten /¢Ilg 3R AR &I U Ay Yrd

4) An alloy of iron and titanium ISR 3R Elgéquq & TP 1Y Yrd
Q 38) Pencil leads are made of ............. /ORd feq 371333[ gt %

1) Carbon with kaoline /P13 & TTY HIa

2) Clay with kaoline /@T3{ATS o TTY Il

3) Graphite with kaoline /&I Gﬁ?ﬂg_*f & Y a'Cb—IE_C'
4) None of the above ETEI I ﬁ's‘ it qﬁ

Q 39) Mini drafter can serve the purpose of all these tools, except that of ........... =gl
SRR, 3raraT, 371 I+ IUBRON & I D1 JaT HRAT &,

1) Set squares e Ej&ﬁ
2) Scales / ¥ d

3) Protractor / gicdex
4) Compass /UMY

Q 40) Which of these will you use for transferring measurements? ERLE DY 3
HIUH DT RIFITRA PR b foIT IUFNT a1

1) Divider /f&arex
2) Compass /PUNY
3) Protractor

4) Triangle /ST

Q 41) If in closed contours, value is decreasing towards their centre, it shows ...... /afe &g

U P &, 3% g Bl SR A Ue el 8, a8 fewmarg.
1) A river bed/@:ld)fﬂﬁ
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2) A depression /Tch 3{ddlg

3) A hill/UP TTS!
4) A saddle or pass /Udh Rredaru™

Q 42) Which of these methods of offsets involves less measurement on the ground?/

BT B J DI I UGl & STHH IR 3 A1 =i 82
1) Method of perpendicular offsets/Tad ATHYCT B fafd

2) Method of oblique offsets/fRBT THIC BT RIPT
3) Method of ties ﬂI(Qﬁ ot fafey

4) All the above involve equal measurement on the ground/ AU & T ST IR IHH

A= ¥ e §
Q 43)%What are passometer and pedometer used for? /IR 3R USIHex & gﬁtﬂ?f
HRA 8?2

1) For measuring angles /10T HIU & g

2) For measuring distances @ CARIPE A

3) For measuring angles and distances/@ 10T 3R _g[\ﬁ CIRIEE] fag
4) For estimating levels /X & S{FHI & f%‘l'q

Q 44) The process of establishing intermediate p01nts in line with the terminal points before

chaining is known as . /AT O ugd e fHTa o & A1y Ir%qaﬁfﬁrg;&ﬁ P RITGT DI
i o S o

1) Ranging/'\s'f\;ri'r[
2) Taping / ¢U
3) Aligning /

4) Bearing /d

Q 45) For a well-conditioned triangle, no angle should be less than ...../Udh DI RE Y

sgfad Pe & o, #% fam Ipy g

1) 20 degrees
2) 30 degrees
3) 45 degrees
4) 60 degrees

Q 46) Which of the following angles can be set out with the help of French cross staft? /

WA 1Y TTH &1 Aee T Y DHI0N ST uar @ S FahdT 82

1) 45 degrees only

2) 90 degrees only

3) Either 45 degrees or 90 degrees
4) Any angle

Q 47) If fore bearing and back bearing of a line differ exactly by ............. there is no local

attraction at either station. /37X ﬁ%wm%uﬂ%é&rﬁm G'ﬁ? %é@ﬁn ﬁ?g?'_v[
 pgrremed, e i YA R PiE -y st T8 §

1) 90 degrees
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2) 180 degrees
3) 270 degrees
4) 360 degrees

Q 48) ABCD is a rectangular plot of land. If the bearing of side AB is 75 degrees, the
bearing of DC is ..../ABCD U TIdIHR SHIF g | Tf e AB BT 3R 75 f&ift 8, d DC
BT 3R el e

1) 75 degrees

2) 105 degrees
3) 255 degrees
4) 285 degrees

Q 49) Magnetic bearing of a survey line at any place ........... fEdt AW Uh gdefor
W & DI 3RR .

1) Changes systematically /AaRYd = JuRac
2) Remains constant [fRR %
3) Varies differently in different months of the year /&Ic] & S-S eIl U 3T

ST BT §
4) Is always greater than true bearing Rl FEAN ¥ 31fdew %

Q 50) What is shown in figure given below?/ATd feU 7T &m o 1 fezamar man %‘?

Woaooden box

Graduations

Magnetic
Pivot needle

1) Trough compassﬂ'l?f HHY

2) Plumbing fork /IfST B

3) Plain alidade/Udle 3ffdcs

4) None of the aboveE_"I'a[ q aﬁé i '_-|73°f

IL. 2 Answer key

Question No. | Option Question No. | Option
1 1 31 2
2 4 32 1
3 1 33 2
4 1 34 1
5 4 35 3
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6 2 36 2
7 1 37 2
8 1 38 3
9 2 39 4
10 1 40 1
11 4 41 2
12 2 42 1
13 2 43 2
14 1 44 1
15 4 45 2
16 3 46 3
17 4 47 2
18 3 48 1
19 3 49 3
20 1 50 1
21 2
22 1
23 4
24 4
25 1
26 3
27 1
28 4
29 4
30 1
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